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PN HEER R
—Rx —R —R
2K BeR =8 A = fw%
Lar RERH &R 200 20% 200 195 0.98
T= Law 200 20% 200 252 1.26
EH™ Law 240 20% 240 296 1.23
X #i Law 40 40 23 0.58
RGEE Laaw 40 25% 40 36 0.90
BEER Laaw 120 20% 120 126 1.05
BEER EfE#HEI-R 40 50% 40 43 1.08
T F Law 40 40 23 0.58
E | Law 200 50% 200 264 1.32
& Laaw 40 16 24 1.50 O:BH#ER F 8244 - EFE24%
b1 = | 5 Law 1224% 33 23 0.70 O:EH#E T 5104 - ERET4
al Laaw 240 240 262 1.09
g E Laaw 240 50% 240 275 1.15
EEd Law 40 38 22 0.58 OE#EIE 854 HEE24
DR &R 200 20% 200 158 0.79
TRE Laaw 280 50% 280 306 1.09
TREA HHI-2 40 50% 40 38 0.95
B % EEH 160 50% 160 140 0.88
B =M Law 200 50% 200 175 0.88
AEFER Laaw 200 50% 200 216 1.08
EE Law 80 80 54 0.68
A Lar 80 80 82 1.03
= & EEH 240 50% 240 319 1.33
TSR K Law 40 40 22 0.55
& 18 Law 40 50% 40 44 1.10
T Laar 40 40 28 0.70
R Law 80 20% 80 70 0.88
EREE E&-Zii1-2 40 40% 40 20 0.50
HFH Laaw 40 40 29 0.73
i # Law 80 50% 80 63 0.79
X M Law 200 50% 200 211 1.06
X M B#HI-2 40 50% 40 27 0.68
R Law 40 40% 40 23 0.58
B & Law 80 30% 80 57 0.71
FHRHE Law 80 80 51 0.64
B O EEH 40 40 20 0.50
B Law 40 40 36 0.90
HELE Law 80 80 82 1.03
=kl Law 280 50% 280 306 1.09
HHMmE Law 160 50% 160 156 0.98
& Law 200 50% 200 209 1.05
kB =EF 210 50% 85 17 gy OBFBELRIEGERRKR L HRH
=EFEL)
LEHO EEF 320 50% 320 388 1.21
LEERF EEH 240 50% 240 357 1.49
LEERF E#I1-2 80 50% 80 85 1.06
LEEE EEF 240 30% 240 327 1.36
RLERS EEH 320 20% 320 378 1.18
BB B 200 94 g9 105 QEEEEIRERIREGE
FEFELELY)
=LA EE L& 280 20% 280 298 1.06
BF oo &R 200 40% 200 190 0.95
FFRE L& 80 20% 80 56 0.70
fin A Law 80 57 18 0.32 OE#EIFE 8254 - EFE234%
= R L& 160 160 202 1.26
ZFEE L& 80 40% 80 65 0.81
=% TER 200 127 143 113 ggfgfﬁ(’ﬁm"ﬂm’ﬁx*
m R LEH 40 50% 40 17 0.43
7 7 LEH 80 50% 80 59 0.74
Ea=lntl LEH 320 50% 320 381 1.19
MR LEH 40 15 6 0.40 OE#EIFE 8294 - EFE25%
=k Law 40 40 18 0.45
[REMIL(HRA) LEHIER LER 240 50% 240 288 1.20
[REMIfTA LEH 280 30% 280 291 1.04
LEMIESI’E LEH 240 30% 240 286 1.19
IN=hioe-:) LEH 320 30% 320 412 1.29
LEMIL(ZR) [RE™IAA AEI-2 80 50% 80 87 1.09
[REMIfTA E g1z —Y3ava- 40 30% 40 47 1.18
IN=hioe-4:) AlERIFI-A 40 50% 40 43 1.08
ERBERICE T 5%H REFH EF&F+ 40 50% 40 41 1.03
EMEEEEIER & H ERE 120 50% 120 71 0.59
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&K Bep =8 = = f&&
EEICETIER EEwEE HEIRES $ AR 200 50% 200 226 1.13
EEEES TEERE 2 AR 160 50% 160 134 0.84
FeN=EsXi] BEREY 2 AR 40 50% 40 36 0.90
R EER 40 40% 40 19 0.48
IN=TESES TEERE 2 A% 320 50% 320 348 1.09
LEMILEmE HHNEER 240 50% 240 247 1.03
mELEE 1EEREY 2 AR 160 50% 160 146 0.91
TXICEATSER BAIXx WM TR 80 30% 80 26 0.33
ATH BEXH-EFHWE 40 30% 40 19 0.48
A HEM EFHWE 40 50% 40 41 1.03
RE BT BB TR 40 50% 40 42 1.05
BE BT RS ER 40 50% 40 31 0.78
LEITX B FL 80 50% 80 49 0.61
LEITX BEXE 80 50% 80 67 0.84
LEITX BEH 80 50% 80 62 0.78
LEIT% T KF 40 50% 40 17 0.43
LEIT% ItZ IR 40 50% 40 23 0.58
LEMILEEITE B FL 40 50% 40 35 0.88
LEMILEEITE BEER 40 50% 40 44 1.10
LEMILEEITE BEXE 40 50% 40 42 1.05
LEMILEEITE BEREFF 40 50% 40 49 1.23
LEMILEEITE BEH 40 50% 40 53 1.33
LEMILEEITE RS ER 40 50% 40 32 0.80
BT HEWE 80 30% 80 58 0.73
BT B5H 40 30% 40 34 0.85
BT BEH 40 30% 40 23 0.58
BT TEZER-EHVATLR 40 30% 40 19 0.48
BT EFHWE 80 30% 80 60 0.75
FFRE 1o7UTH 40 20% 40 24 0.60
FFRE #HmVATLR 40 20% 40 12 0.30
EEIX B FL 80 30% 80 60 0.75
EEIX BXF - EHREHTR 80 30% 80 91 1.14
EBIX BER-1U7)7H 80 30% 80 58 0.73
EBI% FEMYATLE 40 30% 40 13 0.33
BXICHEIIFER wEEE E=% 40 50% 40 44 1.10
FEEHE BEH 40 50% 40 40 1.00
EEE HER 40 50% 40 40 1.00
AEEE BEERWE 40 50% 40 35 0.88
AEEE #kih + KFd 40 50% 40 38 0.95
EEE YT 2H 40 50% 40 40 1.00
FEEEHE BaEEH 40 50% 40 39 0.98
B M BE=74108 40 40 22 0.55
EEEZ EYMEERR 40 30% 40 14 0.35
EREX BiE TR 40 30% 40 14 0.35
EREX BRI¥H 40 30% 40 18 0.45
EREX HEERIER 40 30% 40 17 0.43
it ## BEREFR 40 50% 40 24 0.60
B R EELV AR 40 28 21 0.75 OEH#E T 5184 - ERE124
&= | TV %A%} 40 50% 40 8 0.20
REICEHTIERE & H EJg) 80 50% 80 83 1.04
B M EJue 40 40 10 0.25
FeN =R %] BTV 40 50% 40 40 1.00
EERICEHTIER  LEEE BEFER 40 30% 40 48 1.20
BLICEET 5% B # 12EF} 40 40 16 0.40
it & HEEIR 40 50% 40 17 0.43
HRE BT INEELE 40 50% 40 44 1.10
AEICETSER @38 KEH 40 50% 40 40 1.00
LEE=E KEH 40 50% 40 40 1.00
wess = wess 80 50% 80 56 0.70
X Y=gy o 160 50% 160 109 0.68
Bt wess 200 40% 200 181 0.91
# i3 wezs 200 20% 200 220 1.10
Efira #HwEeEH 160 50% 160 187 1.17
SE BeEEH 240 50% 240 290 1.21
F F Y=y o 200 25% 200 234 1.17
LEHE BeEEH 280 40% 280 374 1.34
B2 Hwezs 320 50% 320 394 1.23
ok we=EH 160 30% 160 108 0.68
=REE =R 80 50% 80 81 1.01




